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1. Sedra & Smith, Problem 7.43 

2. Sedra & Smith, Problem 7.58 

3. Sedra & Smith, Problem 10.21 

4. Sedra & Smith, Problem 10.22 

5. Sedra & Smith, Problem 10.25 

6. In the following circuit (biasing circuit not shown), derive an expression for the small signal 
resistances R1 and R2 for: (a) VA=∞, (b) VA≠∞. 

 
7. The following circuit is a CE amplifier with a feedback resistor 𝑅𝑅𝐹𝐹. Determine the gain 𝑣𝑣𝑜𝑜 𝑣𝑣𝑠𝑠� . 

𝑉𝑉𝐴𝐴 = 100𝑉𝑉, 𝛽𝛽𝐹𝐹 = 100, 𝑉𝑉CC = 12𝑉𝑉, 𝑉𝑉𝐸𝐸𝐸𝐸 = −12𝑉𝑉, 𝑅𝑅𝑠𝑠 = 1𝑘𝑘Ω, 𝑅𝑅1 = 10𝑘𝑘Ω, 𝑅𝑅2 = 5𝑘𝑘Ω, 𝑅𝑅3 = 24𝑘𝑘Ω, 
𝑅𝑅𝐸𝐸= 4𝑘𝑘Ω, 𝑅𝑅𝐶𝐶 = 6𝑘𝑘Ω, 𝑅𝑅𝐹𝐹 = 20𝑘𝑘Ω. 

 
8. A BJT with 𝐶𝐶𝜇𝜇0 = 2𝑝𝑝𝐹𝐹 is biased at an operating point of (2mA, 5V). What is the forward-transit 

time 𝜏𝜏𝐹𝐹 if 𝑓𝑓𝑇𝑇 = 500𝑀𝑀𝐻𝐻𝑧𝑧, 𝜙𝜙𝑗𝑗𝑐𝑐 = 0.9𝑉𝑉, and 𝐶𝐶𝑗𝑗𝑒𝑒 = 7𝑝𝑝𝐹𝐹? 


